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forel 1R TseX ® 9 IRE e 9 = foRan
S Gehal § 2

(A) faftre e 389 WS Hhd €

(B) Wehel &I H HEHl hl Wies & €9 H

gitferd ot 9ehd ©

(C) @& % ®T H HwM IR FHAT: A
L3l T STAT R Tk &

(D) ST qft Hoyat &

What can be done by Inserting Cross
Reference in LibreOffice Writer ?

(A) Jump to Specific text passages

(B) Insert References as Fields in the single
document

(C©) Use Objects with Caption and
bookmarks as targets

(D) All the above are possible

fotsl AR o | I 91 WEd 71 T8l § 2
(A) ®feém (B) TS
© = (D) W

Which is not a valid Style in LibreOffice
Calc ?

(A) Heading 1 (B) Good

(C) Bad (D) Poor

frdted & faw &9 o1 Fom T © 2
(A) YW T feamrd

(B) I 3ifiehRan T ©E FHde HW §
(C) Hfsha Hafead Teamsd
(D) W a4t

Which of the following statement is/are true
for Repeaters ?

(A) Layer one devices

(B) Connect two maximum length
segments

(C) Active powered device

(D) All the above

forsl siiftre TaeX o fiie Wiy & faw wiidshe =

(A) CTRL+Shift+O
(B) CTRL+Shift+P
(C) CTRL+Shift+PP
(D) CTRL+P+P

What is the shortcut for Print Preview in
LibreOffice Writer ?

(A) CTRL+Shift+O
(B) CTRL+Shift+P
(C) CTRL+Shift+PP

(D) CTRL+P+P
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forel TR 39 | oS T8 USiev™ Wied | <1

3Tl @l T ITANT Hh SISl
S HhaI R |

(A) Tige (B) T

(C) 3| (D) THTRX

Two shapes in Presentation file created in
LibreOffice Impress can be connected
using

(A) Joint (B) Fix

(C) Attacher (D) Connector

forel TR TR | oS T8 S&arelsl Higel UaHesH

F Y I H ARA L
(A) .doc (B) .odt
(C) .ot (D) .odf

Document file created in LibreOffice Writer
is saved with extension :

(A) .doc (B) .odt
(C) .ot (D) .odf

FN @ T TRFT FT SEATE AW TSR
e Lt § 2

(A) WINS (B) DNS
(C) DHCP (D) PPP

Which service provides dynamic IP
addressing to clients ?

THAT o TR H hI G T T §?

(A) @ Ul I RARR 919 ok &I H ITAN T
e < Tk ©

(B) FfefIX F5 R Wrem Siam € iR fafeme
FehRHh TS & fog

(C) Tt F= § addr g&des § 9t gehureh
IR

(D) forelt gepmmeh Wi fectie w1 & forg, fedfte
o I g+ 3R 39

Which is not true about Bookmarks ?

(A) @ character cannot be used as a
bookmark name

(B) Navigator is opened by F5 and to jump
to specific bookmark

(C) Lower list contain all the bookmarks in
the current document

(D) To Delete a bookmark, select and press
Delete button

frefafed § 9 SH T 39T 99 Gigeem 82
(A) TRIEIT (B) THUH TE
(C) %hIE (D) fosl sAftRE

Which of the following is an Open Source
Software ?

(A) WINS (B) DNS (A) Photoshop (B) MS Word
(C) DHCP (D) PPP (C) Skype (D) LibreOffice
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10. &SI 1 Tk oF I1W ST Gk Yrdehdi o | 12. T fodt <o § vsgl & fafys
fere sfarrd a7 & - a1ef @IS S g B

(A) T TRl (B) T

(A) STIRfe wiged 5
(C) fermtE (D) =t

(B) SfRd A Different meanings of words in a document
can be searched from .

(C) T & & foe va ws gfefert (A) Dictionary (B) Google
(C) Thesaurus (D) Spelling

(D) SR H 9 g T

13. STl 1 WA fheeh e foman Simar 8 2
(A) 3-YTAH HET

(A) Customised files (B) Tafve wiewml W H1w os

(C) Ao THA Tl

(D) SR H ¥ HE Tl

Telegram is used for

Create a batch of documents that are
personalized for each recipient :

(B) Personalised E-mails
(©) Mail merge utility to merge

(D) None of the above (A) Making E-Payments

(B) Sending messages across different
platforms

(C) Emailing Application

11.  3TESE wiehd 3 ard FHEFHAT F A (D) None of the above

YHR T :

(A) 4,3 (B) 3,4 14. __ TTwme FSET &1 ITAM FHh
iHfeT fo@l ol 2T foran < Heahal B

© 24 (D) 3.2 (A) CTRL+F10 (B) CTRL+F9

Total types of IoT platforms and voice (€) CTRL+F7 (D) CTRL+F8

communication is Formatting marks can be toggled using

shortcut keys.
(A) CTRL+F10 (B) CTRL+F9
© 24 (D) 3,2 (C) CTRL+F7 (D) CTRL+F8

(A) 4,3 (B) 3,4
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15.

16.

TEE W H=3Tel €9 9 HiHe fohd MU sAfssiae &t
TRIHTST Shl AR TATSS YA | fenieg e |
IH A o fAaT FamT |

(A) FRPR

(B) forTeR wide

(C) TR SRR HIHfT
(D) HiHE TGR

To revert the formatting of a manually
formatted object on a slide to the style
defined in the master slide use

(B) Clear Format
(C) Clear Direct Formatting

(D) Format Eraser

o SiftRe Shesh H =1 fa=e & & o1 =9 9y
T e?

(A) < S (B) = W

(C) = TetHe™ (D) < <Ry

Which is not a valid step in Chart Wizard in
LibreOffice Calc ?

(A) Data Series (B) Chart Series

17.

18.

HeTEe HEeR Wl IR iieme Herel 9 e
YIH HE A ASE hH & fau U SuAfTCn
TR T

(A) 1T HreTset G

(B) e HiaRA ME

(C) e TiI-arRE Hiegel YReq
(D) ST ¥ | i &

A utility software to help deliver protection
to mobile cyber threats and online scams :

(A) Norton Mobile Security
(B) Norton Mobile Guard
(C) Norton Anti-Virus Mobile safety

(D) None of the above

fafir Sfehi o =l Seieieh &9 | 7id e

T HI o dST qhHIh gl
(A) NEFT (B) RTGS
(C) SMPS (D) IMPS

__________ is the Fastest technique to
instantly transfer funds electronically
between different banks.

(A) NEFT (B) RTGS
(C) Chart Elements (D) Chart Type (C) SMPS (D) IMPS
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19.

20.

AT A3 fohg Aeddh & HIead 9 USRI,
HE Y I T T Hidm & ?

(A) TeTTHTH

(©) TH-STTHT

Through which network does Open IoT
manage registration, deployment of sensors ?

(A) LSM
(B) HTTP
(C) X-GSN

(D) GSN

FRa S Wdsl ®9 4 fasfag o dwifuq
foren S © 9 ETIRSINIR

(A) THHRE HiFea
(B) st
(C) fafecre=R

(D) ST.TH.TA.

Software which is developed and modified
freely is called

(A) Synchronous Software
(B) Package
(C) Middleware

(D) 0SS

21.

22.

23.

forel TP S99 § e | g3t SR
It feed/ameit &t e & fau g9 3w

FH &) TawE = S e
(A) fex (B) HIw
C) o= (D) TES

To protect sensitive information portion/
content in a file in LibreOffice Impress it is
recommended to use :

(A) Redact (B)
(C) React (D)

Protect
Hide

foral 1ifre o § 31T & & T &9 91 9y
ICET IR
SERENKA: T (B) HsId&®

HEE o1
Which is not a valid option to Arrange in
LibreOffice Calc ?

(A) Bring to Front (B)
(C) Send to Front (D)

(C) Hszwe (D)

Send to Back

Forward One

THRL ShRHE & TIHS HI T RS SrRHS H
It S % forg 30 3w 3 €

(A) TRIHC X

(B) 4T WhIHfeT
(C) e wiHf
(D) oA RIHfT

In order to copy the format of the text
document in another text document we use :
(A) Format Painter

(B) Copy Formatting
(C) Paint Formatting
(

)
D)

Clone Formatting
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24. M TFH HEAEI qThh Tal 8 ? 26. Tieyie wEd &I fas AR wew |
% &9 H S0 ford ST Heha B
(A) The freed
. (A) ofiod SlRgHe (B) HISShIGIR TR
(B) TwATChIA TS
(D) PR i wfdg Spreadsheet file can be emailed as in
LibreOffice Calc as
Which is not a firewall technique ?
(A) OpenDocument (B) Microsoft Excel
(A) Packet filters
(C) PDF (D) All the above
(B) Application Gateways
(C) Proxy Server
(D) Fire Proxy Service 27. fora iiftem o S ufteds 1 3TAfd
T <A R
25. WA H fImiad Wem Yo et 1 A SRy ; (A) HIES Tl
(A) U (B) TEITOST hi Tl
(B) @mm C) fe=ie
C) ™=
© = (D) < faseH
(D) 9 8000
Track changes in LibreOffice does not allow
Name the first supercomputer developed in to
India :
(A) Merge Document
(A) Sahasra
(B) Compare Document
(B) Saga
(C) Param Yuva (©)  Record
(D) Param 8000 (D) Split Document
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28.

29.

g o ifqn duifsad wee W 91 & fau
Slidshe piorl a1 ST &L |

(A) CTRL+Shift+F4
(B) Alt+Shift+F4
(C) Alt+Shift+F5
(D) CTRL+Shift+F5

To jump to last edited slide in Impress use
shortcut keys :

(A) CTRL+Shift+F4
(B)  Alt+Shift+F4
(C)  Alt+Shift+F5

(D) CTRL+Shift+F5

eI H5dA hi e YT 95
& ITAN hie fefoed w9 9 g&aer f&a <
Hehd B

(A) X.502 (B) X.503

(C) X.510 (D) X.509

Spreadsheet file can be digitally 51gned using
a certificate of standard

30.

31.

32.

3D Tufén @it # 319 foheen w4 ?

(4) e

(B) fHfer

© W

(D) STl |t

What you will use in 3D printing material ?

A) Resins

B Nintinol

~"

(
(
(C) Rubber
(

D) All the above

Zde & w9 § uree fear wan foget e

e Rl Eehd §

(A) 140 (B) 240

(C) 260 (D) 280

Twitter text posted as Tweet can be of
length.

(A) 140 (B) 240

(C) 260 (D) 280

T WY H B 91 Hies SISl Tel S Hehdl ?

(A) fafa (B) wHH

(C) wersTs (D) f&n

In a Form which field cannot be added ?

(A) X.502 (B) X.503 )
(A) Date (B) Time
(€) X.510 (D) X.509 (C) Numerical (D) String
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33.

34.

SHoge e 3 et i e faf
(A) o9 I

(B) e

(C) 2k T

(D) di2dt

Popular access method for Computer
Network :

(A) Bus token
(B) Ethernet
(C) Token Ring

(D) P2P

wfdn & fau fomgR siwgemE d@3d d=

i
(A) oS (B) o
(C) < fa= (D) giEde

OSI Reference Layer responsible for routing
is

35.

36.

o T T < HIEE TAW HT STANT & T h
sTufa €2

(A) T T
(B) THUAIT eTRUA
(©) A TH

(D) e FANTA

Which address is permitted not to use two
forward slashes ?

(A) Http URL
(B) SMTP URL
(C) News Address

(D) Telnet URL

fotsl SAiftRe Shoeh & fou fosme =i
AR

(A) W= (B) e

(C) TuSie (D) ¥

(A) Physical (B) Network (A) Letter (B) Fax
(C) Data link (D) Transport (C) Agenda (D) E-mail
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37. fod S1iftFe o o word widfen 39. hIS fershed ShT STANT Thich TEATAST

% STMHR T T ST Fhelt T H ooy Hice dh Igd Hohdl § |
() E (B) e @) TS
(B) TE &d
(C) ¥ I (D) STl At
(©) TE ferm
Conditional formatting can be done in .
LibreOffice Cal based on : (D) TS ST
(A) Date (B) Formula Ei)ne can access d.atabase fields in the
ocument using option.
(C) Cell Value (D) All the above (A) Add Database
(B) Add Table
(C) Add Relation
38. A SR Hlafe I H HEE A
TFdt & (D) Exchange Database
A)  TfTET y ‘
*) 40. Torsl SAiftRe e fefafad ToaR 98 &1 e
e
(B) 1YL
(A) wifea s
(C) =Is% qUIdt
(B) 3D dfég
(D) SW |t (©) e
Auto Correct entry can help to create (D) TET
LibreOffice Calc does not provide following
(A) Replacements Toolbar :

(B) Exceptions (A) Media Playback

(B) 3D settings

(C) Word Completions
(C) Painting

(D) All the above (D) Drawing
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41.

42.

43.

TG TeS Uiadl § S 91 98 TR e 76 § 2
(A) g (B) SR
(C) =i (D) fdeeH

Which is not a valid paper format in Impress
Slide property ?

(A) Length (B)
(C) Height (D)

Width

Orientation

fos TifrE o | Ty HAISK &1 Hihd
T hT TMohe :

(A) CTRL+E (B)
(C) CTRL+Shift+E (D)

CTRL+AIt+E
CTRL+F9

Shortcut to activate Extension Manager in
LibreOffice Calc is

(A) CTRL+E (B)
(C) CTRL+Shift+E (D)

CTRL+AIt+E
CTRL+F9

[t 1 faawer s fom g fava graedl &
steren forelt o =afed &1 sHA oS & fau
o yEm e S R

A) TS it

B) ISS hleA ohidl

C) <dd e hidt
D) i Hidl
is used to send an e-mail to some

other person in addition to the main subject
receiver without disclosing details to all.

(A) Carbon Copy

44.

45.

46.

fas TPE 3999 ° o9 T8 999 higd

TFISYH & 9 A9 Bl B
(A) .ods (B) .odt
(C) .ott (D) .odp

Presentation file created in LibreOffice
Impress is saved with the extension

D) THIH

LibreOffice Calc does not remotely save the
file on

(A) Google Drive
B) One Drive

) IBM Lotus Notes
D) FIP

TeraTferd o=t Sire o T forsl AR ek i
SR Folt

(A) Shift+F7 (B)
(C) Shift+F9 (D)

CTRL+F7
CTRL+F9

LibreOffice Calc shortcut key for automatic

(B) Blind Carbon Copy spell check :
(C) Double Blind Copy (A) Shift+F7 (B) CTRL+F7
(D)  Xerox Copy (C) Shift+F9 (D) CTRL+F9
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47. TAYST Hied H 9 fTURA &1 vegfdn | 49. HHGE & Hgel g
. h T WA e
(A) Hrh ekt
(A) =L (B) W Hafd iR igyg Feheriam
C) fed argeT ok fohm 7o
(B) Sy ©) g &
(D) W H 9 hIs Tl
(C) wHN
CEO of the Facebook is
(D) sifqfem faeeA (A) Mark Zuckerberg
(B) Mark Saverin and Andrew McCollum
In the multithreaded model scheduling of
thread execution is a task of (C) Dustin Biden and Chris Hughes
(A) Tnput (D) None of the above
(B) Output . - . .
50. TEIES H I8 WiHfAd & 999 T ©
(©) Memory (A) Bfa (B) SR
(D) Operating System (C) dfean (D) 3D Hiea
It is not possible to insert in a
document.
48. T 9§ & fSRH 1 wiee &I afae greel (A) TImage (B) Shape
i e ?
Ak (C) Video (D) 3D Model
(A) aftde (B) &
51. U & faT o = R 2
(C) sty (D) @
(A) = (B) T
Wh1c.h is not a valid property of Transition ©) ¥ (D) s wh
on slide ?
Anchors can be placed to
(A) Variant (B) Sound
(A) Character (B) Paragraph
(C) Duration (D) Color (C) Frame (D) All the above
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52.

53.

54.

fosl ifftre e H fede=d &1 71 & H &
fow wiéhe |
(A) Shift+F2 (B) Shift+F5

(C) Shift+F3 (D)  Shift+F9

Shortcut to trace dependents in LibreOffice
Calc is

(A) Shift+F2 (B) Shift+F5
(C) Shift+F3 (D) Shift+F9
A H Yene fiaes WAN &l &2

(A) ATM (B) ISDN
(C) Frame Replay (D) X.25

Which is not a packet switched WAN ?
(A) ATM (B) ISDN

(C) Frame Replay (D) X.25

INEESS

gl

(A) €9 SAH
(B) WehfHaAl % Huh H WA
(C) ISR EISH

(D) W At

& foru o foran < ehan

LinkedIn can be used to

A) Build connections

B

~

Stay in touch with colleagues

(
(
(C) Search jobs
(

D) All the above

55.

56.

57.

g 19 (Save As) % fau widewe gt ?

A) CTRL+S
B) CTRL+SHIFT+S
CTRL+ALT+S

ST H H hE TR

A) CTRL+S

B) CTRL+SHIFT+S
C) CTRL+ALT+S

D) None of the above

i 31gafa a1 T
(A)  =dH (B) HUIf<d
(C) afed & (D) STl g+t

Impress allows a user to
macros.

(A) Run (B) Edit

(€) Organise (D) All of the above

YU €N W HE YA I HHIHT i o g

ey Tk BRI

(A) THRST (B) fafeaam

(C) wHIR (D) TEIR

A POS is a system to process
card payments at retail stores.

(A) Software (B) Middleware
(C) Firmware (D) Hardware

Page 13/14

SPACE FOR ROUGH WORK

M1-R5/01-23



58.

59.

o8 wise o sradl wigel & el wil Th
sTerafeerd gt Bl §, S8 Fed T

(A) ARRT ®IES

(B) U RS
(C) g USiewH

(D) 99 WS

A new slide that contains an unordered list
from the titles of the slides that follow the
selected slide is called

(A) Outline Slide
(B) Preview Slide
(C) Preview Presentation

(D) Summary Slide

forer 3ifthg 3909 o =9 91 7= YSiee Hig el
g2

(A) g BRI

(B) 3TN BRI

(C) T fderd

(D) <1 ¢E frfte

Which is not a valid presentation mode in
LibreOffice Impress ?

(A) Full Screen
(B) Half Screen
(C) Ina Window

(D) Loop and Repeat

60.

61.

e dieg faeheq =1 2l v o fag fefafed

STl a1 ST R S Tk ®

(A) CTRL+P

(B) CTRL+T+P
(C) CTRL+O

(D) CTRL+Shift+O

To Toggle print preview option one can use
the following keys

(A) CTRL+P
(B) CTRL+T+P
(C) CTRL+O

(D) CTRL+Shift+O

ST W SYATRArS! T & S arelt ST
Ty gfda = €2

(A) STE/3l
(B) U HAsHe
(C) HUTERM
(D) ThEA HAsHe

Which is not an Operating System service
given to users ?

I/0
(B) Process management
(C) Compilation

(D) File management
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62. foral oifftFg e & & 1 WRd 39H SUaTsd | 64. AR R W@ TR

T (A) T gSt F A A T
R (B) Uh U3 oh A Tk STl
(©) T°F FXF R
(B) i RS (D) 1 ¥ ¥ o
Footnote is placed
(©) Frwd (A) At bottom of all pages but same
(D) e F B) At bottom of each page but different

Inside the footer of the page
In LibreOffice Writer which style option is Inside the header of the page
not available ?

65. 3TEAS H U &Y aTeft STl T HEe

(A) Emphasis 1 B 2

(B) Strong Emphasis (A) e (B) -py
(C) .exe (D) jar

(C©) Quotation What will be the JAVA extension file used in
[oT ?

(D) Double Quotation (A) .c (B) .py
(C) .exe (D) .jar

63. o3 sifrg Sow § wevm e w9 %51 | 66 forett fsran 1 St o1 ol 31=1 fashed © -

RICETE (A) T Tqfen faeen @
iR T
(A) CTRL+F2 (B) CTRL+F1 ® w
(C) Tomiea fehan ST e ™
(C) CTRL+F3 (D) CTRL+F9 (D) IH< TeTH

) S ] The best option to relate a process is a
Shortcut to insert a function in LibreOffice

calc: '
(A) An Operating System itself
(A) CTRL+F2 (B) CTRL+F1 (B) Complete software package
(C) Program in execution
(C) CTRL+F3 (D) CTRL+F9 (D) Interrupt handler
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67.

68.

forsl 3T1TRe 39 | oFTS T8 A TI15S ISievM
BEA Y :

(A) T wEed R fewice &1 9 99 $9 k@
e

(B) TR TS W fewiee ¥4 4 99 3 @
AR

Q) 3ifqd wmee R fewice 9 9 96 $8 @
qAE

(D) SR H 9 g Tl

Master slide presentation file created in
LibreOffice Impress has :

(A) everything appears by default on all the
slides

(B) everything appears by default on the
first slide

(©) everything appears by default on the
last slide

(D) none of the above

Sk 39 TR 1 STAN IS WA § <k ohl FHIEa
FH % fa = €

A) STHR

B) IR

C) 9&he I

D) THRHISR

Banks use this machine to process large
number of cheques :

(A) OMR

(B) OCR

(C) Barcode Reader
(D) MICR

(
(
(
(

69.

70.

71.

Twg efae w1 T B9 HT HT G&A7
F1

(A) 10 (B) 12

€ 11 (D) 13

The number of digits printed on ATM Debit
card is .

(A) 10 (B) 12
) 11 (D) 13
Afehe frad geifua fom §2
(A) 9IS & TR

(B) ISR A

(C) W& forsht i 1=

(D) dfehT eTd

Netiquette is a rule related to
(A) Food habits

(B) Cyber habits

(C) Retailing habits

(D)

D) Banking habits

o siffRe Show o feaforar
A) Huifed & wehdt §

B) fa@mht < wendt §

C) AL S Geohell €

D) 39l |t

(B) Shown
(C) Deleted
(D) All the above
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72. IS W RAA 3 S FIR f9een § Jo6ar | 74, Torel ARE TgeX S&rest ! % &Y
1 HIOT A ¢ - H T F H fohed 1 T |
(A) @FRE (B) S (A) PDF
(B) EPUB
(© zm (D) W
(C) PDF iR EPUB S
Software piece of code that replicates to cause
a damage in computer system : (D) e JPG
(A) Virus (B) Bacteria LibreOffice Writer gives an option to export
the document as
(€©) Tram (D) Spam (A) PDF
(B) EPUB
73 A SR FHE & YeR (C) Both PDF and EPUB
IR0 TR e & fou th g Fmss (D) Only JPG
TG =i 2 |
(A) ST 59 A 75. SieE § &t g 1 W@ e g T s
€2
(B) 3ihal FASE
(A) |
(€) T FASe
(B) W
D) fefSetiat .
®) (C) foiere foree
is a secure cloud based platform D) @
for storage, sharing and verification of °
documents and certificates. Ready queue in OS is maintained by
(A) Amazon Web Services |
(A) Array
(B) Oracle Cloud
(B) Stack
(€)  Google Cloud (C) Linked List
(D) Digilocker (D) Tree
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76.

77.

78.

foral AifRE o o oFE T TISIE FEd

TEHISYH o T U i ST S
(A) .ods (B) .odt
(C) .ot (D) .odf

Spreadsheet file created in LibreOffice Calc
is saved with extension :

(A) .ods (B) .odt
(C) .ott (D) .odf
3O HY U W A 1 TE B
(A) s (B) fuit
(C) eewie (D) #H

An image map is a group of one or more :
(A) Images (B) Pics

(C) Hotspots (D) Maps

forsr iR Shosh B Stidftheet ot Sifoshe Folt ©
(A) CTRL+Shift+L (B) CTRL+Shift+A
(C) CTRL+Shift+#F (D) CTRL+Shift+K

Shortcut Key to Auto Filter in LibreOffice
Calc is

79.

80.

% fou G yeE &l

(C) fomnfa

UMANG do not provides services for

(A) Farmers
(B) Hunters
(C) Students

(D) Pensioners

fora 21ifre T # fordt <maras R fefsest v
dgaeRFHE R fawgg_ g fefoed
TR B faehed s ST W ¥ |

(A) A (B) Tufee

(D) TH

o

To Digitally sign a document in LibreOffice
Writer we use Digital Signature menu option
from

(A) CTRL+Shift+L (B) CTRL+Shift+A (A) File (B) Edit
(C) CTRL+Shift+F (D) CTRL+Shift+K (C) Insert (D) Tools
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81.

82.

U HY &l fUaeRr & 9 T o= § W foRan

=TT §, S wed €
(A) TR 9EE THS HY
(B) Tyeer z8s #4

(C) TR WIS T HY
(D) W § § HIE T

The Image Map is stored in a layer below the
picture is called :

(A) Server side Image Map
(B) Pics Image Map
(C) Client side image Map

(D) None of the above

A MSTA TaA@ ST R W
T foran S ©1

(A) 3Tk

(B) HHR TE ferm
(C) Wi

(D) T SRS

E-mails and its related data is stored on

(A) Attachment
(B) Computer hard disk
(©) Mailbox

(D) Google Drive

83.

84.

85.

forsl AT 399 § T Stfssiae i i ©) Grget
FHETST &t ST Gehl ® 2

(A)  X-difSeH (B)
(C) aIhd A=Y (D)

Y-aifSeE
IR Tt

Which property of Snap Object can be

adjusted in LibreOffice Impress ?
(A) X-Position (B)  Y-Poistion

(C) Vertical Type (D) All the above

A TARS W YSIIH & HH T The T -
(A) F5 (B) F4
(C) Shift+F5 (D) Shift+F4

Shortcut to start the presentation from the
current slide is :

(A) F5 (B) F4
(C) Shift+F5 (D) Shift+F4

AR Wi ST el el ot dred 1el & ¢
(A) .TATH.E.

(B) e withew

(C) eifsreed

X

(D) oA S[H

Third Generation of Computers used

B) Integrated Circuits
C) Transistors

D) Vacuum Tubes

Page 19/14

SPACE FOR ROUGH WORK

M1-R5/01-23



86.

87.

88.

o 3" & fT T e
(A) HHH HR

(B) wHIwd

(C) HrewuH/HrEl

(D) PR 2 4R

One format for LAN OS

A) Common Server

B) DPlace to Place

~—"

(
(
(C) CSMA/CD
(

D) Peer to Peer

Aferg TR A & ufds fedt =7
1 STAM TE T

(A) THE (B) fSr=
(C) fecfte (D) TH A

Track changes in LibreOffice Writer does not
allow one to

(A) Accept (B) Reject

(C) Delete (D) Accept All
3TYR & fafere wg=m @ § S

BRI SR e S 71

(A) UBI (B) UIAI

(C) UIDAI (D) UBDAI

AADHAR is a unique identity number issued

89.

90.

91.

TG STH 1 Uh THIIM ® :
(A) TEw A

(B) HIIIERT

(C) <helel A IR

(D) 21w YAfT iR Aederfeh 3T

An extension of multiprogramming OS is

(A) Time sharing
(B) Multitasking

(C) Only Time sharing
(D)

Both Time sharing and Multitasking

foa Afrg =99 # oA T Uiy Wied H
FrEe U iy &1 vidhe © :

(A) CTRL+G (B) CTRL+F

(C) CTRL+I (D)

Shortcut for Find and Replace in
Presentation file created in LibreOffice
Impress is :

CTRL+H

(A) CTRL+G (B) CTRLA+F

(C) CTRL+ (D) CTRL+H
3o e faeey q HEd Qrerdl
gl

(A) SwRAT (B) wrEfewh

(C) TgTE (D) wfefEst

Open Remote option opens file from

(A) UBI (B) UIAI (A) Desktop (B) Hard disk
(C) UIDAI (D) UBDAI (C) Pendrive (D) Services
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92.

93.

s SiffRe Shew § w9 @ Afere Wit @
T R?

Fr-sifehT TH

(B) AM-fchT TEHA

(€ = EW

Which is not a valid Formatting mark in
LibreOffice Cal ?

Non-breaking space
(B) Non-breaking hyphen
(C) Word Joiner

Sentence Joiner

I |1 O 3T HURST 1 S el § 2

(B) SAEAELH

Which is not an example of LAN based
messaging ?

(A) Domino
(B) 1IIS
(C) Exchange

(D) Groupwise

94.

95.

Tl AN TS A

Hehdl |

EEGIAST

A=3ar €9 9

(B) SHRUSE W foeTh ik
(C) HISH I U7 % &Y H TN Flh
Sqler gt

During presentation slides can be changed

(A) Manually

(B) By clicking on background
(C) By using mouse as pen

(D) All of the above

LAN & U s &1 SrEaer Aavae T8l 8 2

(A) TASTEEH

(B) IS TR

(C) HITFHTA hald
(D) I Tl

Which is not required hardware for LAN ?
(A) NIC

(B) File Server
(C) Coaxial Cable

(D) Monitor Server
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96. foa FT Sesh H fed TRM & faw <\ @1 | 98, USiev™ & T gfEfda Tl forar <
e T 2 TR 2 |
(A) Waﬁﬁm FH W I8 Teh AT = (A) faei (B) TerTEd
¥ qftafda & S @
(©) 2D (D) 3D
(B) TieTd ®iftSiieet g 3R =l < R ety
Presentataion cannot be converted
g to
(C) foem ifieii=et < SR F1 a1 SN e (A) Bitmap (B) Metafile
EQGIi
(©) 2D (D) 3D
(D) firera aféwa ¥id =i = frea e ©
Which is not true for Flip action in LibreOffice )
Calc ? 99. forel SAMRE ¥ At e o fow widshe st
(A) Flipping a selection converts it into a T2
floating selection
(A) Ctrl+E (B) Ctl+ W
(B) Flip Horizontal flips the left side to the
right side (C) Ctl+T (D) Cul+Q
© flfip I—aorizontal flips the right side to the To exit LibreOffice what is the shortcut key ?
eft side
A 1+E B 1+
(D) Flip Vertical flips the top to the bottom (A) ctr (B) cul+W
(C) Ctrl+T (D) Ctrl+Q
97. -9 o T | TR S weRdan
8 100. fers sifftre S & el @ ¥
(A) e S & fafie Tl o feer fofan S 2
(B) fefiteat aifere (A) frer (B) ™
C) TH= (C) e (D) 7 =Ee
(D) SWiH H 9 whig &l Connectors are anchored to particular places
E-payments can be done through in LibreOffice Impress using
__________ (A) Fixer (B) Glue
(A)  Wallets (C) Point (D) Glue Point
(B) Digital Wallets
(C) Cash
-00o0-
(D) None of the above
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